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PROBLEMS
Copy and complete the statement given that m1.2 BHE = i CHE = 9(°,

ac’

A
2. meiCHA = C{@

1. maL ARG =

T

%f’?ig\tq@ e

3, K mlCHD = 31° thenm £DHE =

4. If mARHA = 48°, thenm £ZEHF = L"i?\g NC ﬁiqﬂ C{Q( LS

5, I H?ﬁ(rHFmBS“ thenms AHEB = z‘:;»\\\ GO —BZzep®
LLM{ Henenla
and Lher verdia

I 2 BGD = 90° and mLCGD == 262, Hnd
6. mdl GO-2e s (b4 comPYIntn fan 5
7. mes VSO-G0 = 90° suo WW e ritan ij

8. mZ3 ("
9, mLFGE = AT LA

verhicell s g ™=
=0 (4 verh cal)
10, meDGE S0 -490 = g0 “s;czg;}p%fiw} se»\i"z:"mj

Lines L and M are parallel, find

o NS 4 S
i omA S P . L= B
(s e * (ﬁﬁﬁm{& mes uz:* &
12, 22 oo -
i\’%gl 657
. o U M &
13.  mZ3 IS Mzl m ”5::3
; PR (‘)QWQ “
14, mfd {p O
15. mZ8 1S v
16, ms6 (pS°© o
. 130~ WS
7. mz1 S° WS
1. ms8 LIS©




CCGEPS UNIT 1A~ Semester 1 ANALYTIC GEOMETRY Pape 23 of 35
PROBLEMS:
11, Solve for x in the diagram O us T %

VAESHIZY =30

NANCIS B I

x= 47 fiaear @@;gm
Qe soppP KTM{ﬂh&fj

12, Solve for x in the diagram  JUSH P'j

%5&5 + 2% 4l = \R0O
GO+ 3% =30
— q G - i’fi Q

240

‘ﬂ;?) : .
ety eSS e
e @ SO OV E N o L j

Use the diagram to decide whether the statement is true or false.

13, W mZl=47thenmdl=43°, ?&%gﬁw b rveay (Jf“ii{'%
, A M.H > ‘»\ﬁmfﬂ%g:}fty
!’r\@: LU{»%\E’ i wen v

g ot N N S; [ D gq (
5, mLldmeI=mE I emed &“w © i f f v

R *;’uﬁ; b@% éw"féi SL,%:E?U% : \f

D TR T R ey Yoy Mm{m’” s \, ﬁ" % 4 \{,L e

False iﬂ‘U\M”\ AL W_ —
verdical s bok Jhe w0 E CURG, P\(\*]- — "h,\ e o ch obhaed

Find the value of the variable.
@"S-i ﬂ(ﬁg verH (TQE L' Gl =
1 3% +G = 15k -1 €

~1BX -3

q=2x -
+ + 1

2. 2

¥

Al T4 PF Yot T
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17. Find the value of x, v, and z (the horizontzl lines are paraliel to each other}

- A =0
we (01 - iy
¥= __LL(!{ Lﬂ(‘%

= (o4°

18. Find the valus of x, v, and z (the horizontal lines are paraliel to each other)

. ! , ~~.\I&3 E%(J A
e 11O <30 xhi\s

45" BITE

e S

19, Find the value of %, v, and z (the horizontal fines are paraliel to each other)

v=_14”

= 114"

150
4 =y

20. Find the valus of x, y, and z {the horizantal lines are parailel to each other)

. 13° : AS add vp o i?SS BC.
" EN Iy IRG ~ A0 -8 TS

. 227597 Linear Paiis 30 4 =40
e '—?b 3 N ¥ - j
e L2 verical

L5




Identify the type of angles and their relationship,
the value of x. Puf a box arcund your answer.

(g@myf
- /(38+x}"’
X:i“ﬂﬂ 7

t}'fm Qfaﬁg‘;‘:g: H ‘ % ‘ EK “‘%‘f’"{”} g)(_

congroent
4

Tl + K

3.

refationship:

equation:  4X O AR
IR LI T Bler ¥
- ¥ _m\g, =48 — ¥
b4 “7k,ﬁ
3.
Br+ 18y
(025 .

P—
-
ﬁ ' 1

iy

type ofangles: Lineat i of o mwig

relationship: 5L ();QE“&T i Hf’ﬂ%@“ j l relationship: ‘:___3;}@){);;)}(:1 NAEN ‘gt&wm\ j

Write the equation used to solve for x, Then, find

type of angles: DAIVIC side i/ WEA G

relationship: DL ppi ementa ﬂj
equation: 3 X 10+ Sk 20 =180
X +20O= S0
2 20
uff& '"K-»@ﬁ ) e D
o = Koo 2D
6.

L

n’puéfmsz!cs Lt €0 Pei 7 {( QOO @dg
6&Wuﬁ E

b,

n«;muw!%c\ WE% “i“‘%
e R e VA
Fy::; ¥ = i(@w ‘ = A =
= = —
% = 4
Xz A3 3
Find the values of x and p. Put a box areund your answer.
) ; L ACTH
7. /‘ IO 8. ‘_“3)_- _ W&iasﬁ»
et B . .\
“ /118 \;sz TESUR
Xb .Vq 6\}(‘}
e 2 > %"‘é;.) L X,

x= [its | tj m

alt . interic m“fﬂwffg
‘}ﬁ;\,/ﬁi - Of | Scurad SIS

- = ¢ O 20
=0 = udﬁﬁ%“&%maw&ﬂj
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Review of Dilations Name:

Period: Dages

A Dilation is a transfomnation that produces an fmage that is the "SOINNE “3!@{1‘)@,,9 the original but
diffecent size.

¢ Dilations are _ M Sfﬁf to the original figure.

» Dilations are centered around the origin (0, 03, unless otherwise stated. (Point of Origin, “C7)

Dilated Image Length
Ori tfma! Traage Lenpth ¢

Scale factor—is - cwhichisa

s If the scale factor is greater than, 3 th{: figure becomes Eﬁ}‘ {‘ﬂ {E’“ . Thisisa & 3 \f %f{ Cng M.&/C?

s 7 the scale factor is between 0 and 1, the figure becomes _ @W\&} 5{" 'f Thisisa E\Udt % on

Example: Would the following scale factors be an enlargement or a reduction?

2 4 5 2 3
enlac 5@!’?@:‘ At Redochion Teduchien ne vbner £y \m‘@"}ﬁw&

Rufe: (x, )y ~» (ke ky ) where k represents scale factor, 1V ﬂ Q M the coordinates by the scale f‘amor

Example 11 Triangle 4BC hag vettices A (8, 1), 8(2, 4), and C (-2, 6).
What are the vertices of its dilated Image with a scale factor of 22

A’ w,“@gz«i) B’ (4,%) o (-9 ;‘2:)

Example 2: Triangle 4BC has vertices 4 (G, 2), B (4. 4), and O (-1, 4).
‘What are the vertices of its Image with a scale factor of 47

A (»@3‘8"\) »_{ 3_@9;&5) o (-4 0e)

Example 3: Triangle ABC has vertices 4 (4, 12), B (-8, 4), and €' (-20, 0
What ave the vertices of its image with a seale factor of 1/47

p(13) w2 o (55,0)




Example 4: Quadrilateral PORS has vertices P (-2, 4), {4, 4), R (4. =23, and §{- 4, 4).
it is dilated by a scale factor of i

p (-1,2) o (2,2) w (2,71 % 2,-2)

Graph the original image and the dilated image below.

oo
Yﬂ I
i EN
H

<F.
; 4

: {

; .

i I

Example 5: Triangle Y17 is graphed below. Draw and Tabel Triangle X'¥°Z” after a dilation using a scale
factor of two.

o T S

g

. %?\ o . gw%.ﬁ) N (MQ }m‘:}

. r
3 H
s 4 H
LEY i
: X e
e
&
s 4
£

I&xample 58: Triangle PQR is graphed below, Draw and label Triangle P Q'R aflera dilation using a scale

factor i}f £, ]

4 A ?L ‘,LEi L r.a A ;,_1-' ﬁ

M@.‘ -f !E.
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gule L EXY L = Sumnm of 2. r\{:&f'\—ﬁi&lj Irvieier LS

Find the value of x in each picture using the exterior angle theorem (in most cases).

10, %

E S

{3x + 30}

(7x - 2)

A% +TXAZLITR-2

S8 O B S

Sk TSK

T e TN

2 IR 2 T
= Q=K x =

. ) P:;‘ .
2Es




Triangle Congruence Worksheet #1
For each pair of triangles, tell which posiulates, if any, make the triangles eongruent.

12. AABC = AEFD 55 Cony. 15, MABC2ACDA o> ?'-C?“’"\fﬁ

C ! .:1?:-

;
D 5 A

(5.aAnC=aBpCc KL COY ‘{?ﬁ |

21. AMAD = aMBC . AARE = ACDE SAES Cf(}'r’\fﬁ

A M 5

MAACB=sADE  SUSCONG 230 AMNP= AMOP 255 Cona
‘ SRS COTG AMNP = AMQP 22 A

23, SAS Cong.

1%




Right Triangle Congruence

s it pussible to prove that the two triangles are congruent? If so, state the right triangle
congruence theorem you would use to prove the two triangles are congruent and the
congruence statement,

m o

ARARS Cong

HL C.C’Dﬁ{?\ _
, EAREASTE ~EATEAROY
By a,
F ‘

z

f’ﬁ*‘:(ﬁ.“.%ﬁ&fr“\g e A
i F%’ o %L

: ¥ '

°NGT (engroent ARS cong o ASA Cong
o Jo AmmH 2 AHAM
ooy P -

iy |

OB (o
AH &ﬁ"T AN yT

Math 1 Unit 3 Lesson 3 Congruent Triangles Page 14




Stofe ¢

Sumi of the interior angles = 360°
Sum of the inteder angles = 55 & v425 X + 5 +.85°

Example:

360° = 2007 + 2%
Yx =360 - 2000 = 160°
o B ¥ﬁﬂ wBﬁﬁ
AR X450 o B §° = BS°

ST xe s’ = 8% e 257 = 1050

Find the missing angles In eachquadrifateral,

2X%4 MO =360
v B L L 3
»2)4{ 2 O -

,g;x%(gy EIny &

g}
$ IXAZU0 =30
g =70 ﬁz o
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